Answer the questions quickly.
8 ÷ 2 =			10 ÷ 5 =			6 ÷ 3 =			8 ÷ 4 =
5 ÷ 5 =			20 ÷ 10 =		4 ÷ 1 =			4 ÷ 4 =

Use the empty number line to answer the questions.
12 ÷ 3 =		
___________________________________________________________________
20 ÷ 5  =
___________________________________________________________________

24 ÷ 6 =
___________________________________________________________________

Solve the division problems.
There are 10 sweets and 5 children. They share the sweets equally. How many sweets does each child get?

___________________________________________________________________

4 cakes go in each box. How many boxes would be needed for 16 cakes?

___________________________________________________________________

A box can hold 10 pencils. How many boxes would be needed to hold 80 pencils?

___________________________________________________________________

6 eggs go in each box. How many boxes are needed to hold to 18 eggs?

___________________________________________________________________
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